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10.

ANSWER ALL QUESTIONS
PART—A (10x2=20 marks)

Expand MIPS. Give its uses.

Give the basic perfof;ance equation.
Expand ROB. What is the use of it?
Define clock rate?

Draw the structure of two stage instruction pipeline.

Mention the different schemes to reduce pipeline branch
panalties.

What are the different vector-access memory
organizations?

When do you say that a cache block is exclusive?
What do you mean by fat tree?

‘What is the use of single mode fiber?
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PART-B (5x16=80 marks)

() Explain the different ways of how (10)
instruction set architecture can be
classified and the various addressing
mode.

(i) Consider an unpipelined processor. ®)
Assume that it has a ins clock cycle and
that it uses 4 cycles for ALU operations
and branches and 5 cycles from memory
operations. Assume that the relative
frequencies of these operations are 40%,
20% and 40% respectively. Suppose
that due. to clock skew and setup,
pipelining the processor adds 0.2 ns of
overhead to the clock. Ignoring any
latency impact, how much speedup in
the instruction execution rate will we
gain from a pipeline?

Or

Briefly explain different types of addressing (16
modes and-its advantages and disadvantages
with an example.

Briefly explain control hazards with neat block (16
diagram.

Or

What is an instruction level parallelism? (1€
Briefly explain different types of dependencies
in detail with example.
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Explain Dynamic scheduling using score board
and draw and explain the basic structure of
DLX processor with a score board.

Or

Briefly explain steps involved in handling an
instruction with a branch target buffer.

Briefly explain distributed shared memory
architecture using directory based cache
coherence protocol.

Or

How to implement synchronization mechanism
to reduce contention and latency.

Briefly explain the following
(i) Network connecting two machines

(i) Message format and performance
parameters

(iii) Interconnection network media
(iv) Interconnection network to the computer
Or

Briefly explain ATM network of workstation
with neat block diagram.
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